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MAT.04.ER.3.00NBT.E.031 Claim 3

Sample Item Id: | MAT.04.ER.3.00NBT.E.031
Grade: | 04
Primary Claim: | Claim 3: Communicating Reasoning
Students can clearly and precisely construct viable
arguments to support their own reasoning and to
critique the reasoning of others.
Secondary Claim(S): | Claim 1: Concepts and Procedures
Students can explain and apply mathematical concepts
and carry out mathematical procedures with precision
and fluency.
Primary Content Domain: | Numbers and Operations in Base Ten
Secondary Content Domain(S):
Assessment Target(S): | 3 E: Distinguish correct logic or reasoning from that
which is flawed, and, if there is a flaw in the argument,
explain what it is.

1 D: Generalize place value understanding for multi-
digit whole numbers
Standard(S): | 4.NBT.3
Mathematical Practice(S): | 2, 3
DOK: | 3
Item Type: | ER
Score Points: | 2
Difficulty: | H
Key: | See Sample Top-Score Response.
Stimulus/Source:
Target-Specific Attributes
(E.G., Accessibility Issues):
Notes: | Part of PT item set

A teacher asked her students to use estimation to decide if the
sum of the problem below is closer to 4,000 or 5,000.

496 + 1,404 + 2,605 + 489 =

One student replied that she thinks the sum is closer to 4,000.
She used the estimation shown below to support her reasoning.

496 + 1,404 + 2,605 + 489 =

R

O + (000 + 000 + O = 4000

Version 1.0



Smarter

Bal
Grade 4 Mathematics Sample ER Item Claim 3 a anced

Is the student’s reasoning correct? In the space below, use
numbers and words to explain why or why not. If the student’s
reasoning is not correct, explain how she should have
estimated.

Sample Top-Score Response:

The student’s reasoning is incorrect. She was rounding to the thousands place. She had 2
numbers that were less than 500, and she decided to round these numbers to 0. This is
like saying these numbers were not in the problem at all. She needs to account for these
two numbers. The sum of 496 and 489 is very close to 1,000. If I break 1,404 and 2,605
into smaller numbers, I can combine 404 and 605 for a sum of about 1,000. Then I can
combine the 1,000 and 2,000 from 1,404 and 2,605 for a sum of 3,000. When I add all of
these numbers (1,000 + 1,000 + 3,000), the sum is 5,000, not 4,000.

Scoring Rubric:
Responses to this item will receive 0-2 points, based on the following:

2 points: Student has a thorough understanding of how to estimate and how improper
estimation can lead to flawed reasoning. Student states that the student in the
scenario used reasoning that is incorrect and provides reasoning that shows a
better estimation strategy.

1 point: Student has a partial understanding of how to estimate and how improper
estimation can lead to flawed reasoning. Student states that the student in the
scenario used reasoning that is incorrect, but alternate estimation strategy is
also flawed.

0 points: Student has little or no understanding of how to estimate and how improper
estimation can lead to flawed reasoning. Student states that the student in the
scenario used reasoning that is correct.
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